

Subtracting Mixed Numbers with Common Denominators – 1

Subtract mixed numbers.

$$3\frac{1}{5} - 1\frac{2}{5} =$$

$$6\frac{2}{6} - 1\frac{4}{6} =$$

$$5\frac{1}{4} - 1\frac{3}{4} =$$

$$5\frac{2}{5} - 1\frac{4}{5} =$$

$$4\frac{2}{6} - 1\frac{3}{6} =$$

$$3\frac{3}{7} - 1\frac{5}{7} =$$

$$3\frac{2}{5} - 2\frac{3}{5} =$$

$$6\frac{5}{8} - 1\frac{6}{8} =$$

$$4\frac{2}{6} - 3\frac{4}{6} =$$

$$3\frac{3}{6} - 2\frac{5}{6} =$$

$$4\frac{2}{6} - 3\frac{4}{6} =$$

$$5\frac{3}{7} - 1\frac{5}{7} =$$

Subtracting Mixed Numbers with Common Denominators – 2

Subtract mixed numbers.

$$4\frac{3}{5} - 1\frac{4}{5} =$$

$$7\frac{1}{6} - 3\frac{2}{6} =$$

$$3\frac{3}{5} - 1\frac{4}{5} =$$

$$6\frac{2}{4} - 1\frac{3}{4} =$$

$$5\frac{3}{6} - 3\frac{5}{6} =$$

$$7\frac{1}{3} - 4\frac{2}{3} =$$

$$4\frac{2}{7} - 2\frac{5}{7} =$$

$$6\frac{2}{5} - 3\frac{4}{5} =$$

$$10\frac{3}{6} - 5\frac{4}{6} =$$

$$2\frac{1}{4} - 1\frac{2}{4} =$$

$$3\frac{1}{6} - 2\frac{2}{6} =$$

$$4\frac{2}{4} - 1\frac{3}{4} =$$